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(−6) + (−3) =0 8 − 3 =0

(−4) + 6 =0 10 − (−7) =(−2)

(−6) − 1 =2 3 + 6 =2

6 + (−9) =(−2) (−9) − 6 =(−2)

(−4) − 1 =(−1) 6 + 8 =2

2 + 9 =2 10 − (−2) =2

3 − 5 =2 3 − 5 =(−1)

(−6) − 4 =2 (−5) + (−5) =

1 + (−10) =(−2) 9 + (−3) =(−1)

2 − 5 =0 6 − (−9) =2
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(−6) + (−3) = (−2)0 8 − 3 = (−2)0

(−4) + 6 = 70 10 − (−7) = = 7(−2)

100
701

100
1

(−6) − 1 = 352 3 + 6 = 152

6 + (−9) = (− ) = (−8 )(−2)

36
323

36
35

(−9) − 6 = (− ) = (−5 )(−2)

81
485

81
80

(−4) − 1 = (− ) = (−1 )(−1)

4
5

4
1

6 + 8 = 442

2 + 9 = 132 10 − (−2) = 1022

3 − 5 = 42 3 − 5 = (− ) = (−4 )(−1)

3
14

3
2

(−6) − 4 = 322 (−5) + (−5) = (−10)

1 + (−10) = (−9)(−2) 9 + (−3) = (− ) = (−2 )(−1)

9
26

9
8

2 − 5 = (−4)0 6 − (−9) = 452
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